
A1

___ is a pineapple?

Answer: ___________________

___ are the apples?

Answer: ___________________

___ is a carrot?

Answer: ___________________

___ are the bananas?

Answer: ___________________

___ is a watermelon?

Answer: ___________________

___ are the strawberries?

Answer: ___________________

___ is a tomato?

Answer: ___________________

___ are the oranges?

Answer: ___________________

___ is a potato?

Answer: ___________________

___ are the grapes?

Answer: ___________________



Answers

___ is a pineapple?

Answer: This

___ are the apples?

Answer: These

___ is a carrot?

Answer: This

___ are the bananas?

Answer: These

___ is a watermelon?

Answer: This

___ are the strawberries?

Answer: These

___ is a tomato?

Answer: This

___ are the oranges?

Answer: These

___ is a potato?

Answer: This

___ are the grapes?

Answer: These


